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QUESTION 1

If the status of an item record is modified in the Item Master application, which two other records need to be updated in
order for the item to be purchase and stocked? (Choose two.) 

A. the item\\'s Company status 

B. the item\\'s Organizational status 

C. the status of the item for the Set 

D. the status of the item for the Site 

E. the status of the item in inventory 

Correct Answer: CE 

 

QUESTION 2

An asset has an associated meter, RUNHOURS, and the Reading Type is set to ACTUAL. The asset will 

require maintenance every 500 hours of operation. 

What must the PM configuration include? 

A. Associate the Asset to the PM, associate the RUNHOURS meter to the PM, Meter Frequency = 500 

B. Associate the RUNHOURS Meter, Meter Frequency = 500, Generate Work Order Based on Meter Readings (Do Not
Estimate) - checked 

C. Modify the Meter\\'s Reading Type to DELTA, Meter Frequency = 500, Generate Work Order When Meter Frequency
is Reached - checked 

D. Modify the Meter\\'s Reading Type to DELTA, Meter Frequency = 500, Generate Work Order Based on Meter
Readings (Do Not Estimate) - checked 

Correct Answer: A 

 

 

QUESTION 3

A forecast for a monthly PM has been generated for 6 minutes. A new data has been entered for the second row and
saved. When the Process Pending Reforecast button is clicked, the following error appears: BMXAT0217E-There is no
reforecast pending to process. 

What would cause this error? 

A. The reforecast dates are locked 

B. The PM is not in the Active status 
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C. The reforecast cron task is set to run every 3 days 

D. The Reforecast Subsequent Dates? checkbox was not checked before the forecast was generated. 

Correct Answer: D 

Reference: https://www-01.ibm.com/support/docview.wss?uid=swg1IV55903 

 

QUESTION 4

A company has a requirement to report on actual labor hours, materials, services and tools used as work progresses on
a work order. 

What is the earliest point in the basic life cycle a user can start reporting? 

A. APPR 

B. COMP 

C. WMATL 

D. WAPPR 

Correct Answer: A 

Reference: http://www-01.ibm.com/support/docview.wss?uid=swg21683844 

 

QUESTION 5

An administrator needs to enable a prompt in the Organizations application for users to enter the Failure Class when
completing or closing work orders. 

Which option is used to enable this? 

A.PM 

B. Asset 

C. Work Type 

D. Safety Plan 

Correct Answer: C 
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